42119

INSTALLATION HEAVY DUTY PARALLEL ARM APPLICATION CLOSER MOUNTED ON
INSTRUCTIONS ( FOR D-4550, D-4551) PUSH SIDE OF DOOR
S S Sy RIGHT
LEFT PP B Nt
LEFT HAND DOOR HAND DOOR _ =22~ V' { T~=II>~__ HANDDOOR
ILLUSTRATED. : o _ _--""PULLSIDE / _\ PULLSIDE ~~~_>~<_ O
SAME DIMENSIONS ARE _ [ ]
APPLIED FOR RIGHT HAND PUSH SIDE PUSH SIDE
DOOR-MEASURED FROM 4-1/4-20 L=1-1/2" COMBINATION
HINGE MACHINE TAPPING SCREW ade I TR s
OR @6 SELF DRILLING TAPPING SCREW S lZ, Bl Gl E
85.5) e el e B B0
3 \ J
Ly I I [
T RN =
.S (‘*———
(mim) |.._ — FE. ._7{_‘ "
MAX. OPENING —— :
TR Ll g ' 4-20 L=1-1/2" MACHINE SCREW,
DIMENSION FOR WITH STOP WITHOUT 1/4" L=2" TAPPING SCREW
moporEy | GRS Mt : " OR ®6 SELF DRILLING TAPPING SCREW
A B MODELS 4-#12-24 L=2-1/4" MACHINE SCREW,
ni- o104 5 s 95° i #12 L=3-1/8" TAPPING SCREW
(283) (260) 83 85 YNOTE (D OF HINGE PIVOT OR (23\4.8 SELF DRILLING TAPPING SCREW
101 | 94 100° b — &
2 g 90° 90° = AN e L
@67) | (@4) SN L= < — ' 4e§
92 gL g 120° —_—— e —— — —— FI:‘:'} .
8 z 100° 100° I % ~ Tk A
238) | @6 | - *NOTE 1 =1|—1| i1 : 5.9
g4 | 72 1600 | ' , Ll
4 s 110° 110° m i — i:—_-?l
(210) | (a8 “NOTE i ! K J
S 3. e lald_— S NS - SR, S
o5 3% 133° 133° *130,
(168) (146) NOTE B 9" (228.6) N
#NOTE : A SUPPLEMENTAL DOOR STOP IS ALWAYS RECOMMENDED FOR INSTALLATIONS NOT INCORPORATING A STOP IN THE
CLOSER ARM. DAMAGE TO THE DOOR, FRAME AND CLOSER MAY OCCUR UNLESS STOP IS USED.
MOUNT CLOSER ON DOOR AND MOUNT PARALLEL
A C
1. MARK LOCATIONS OF ATTACHING SCREWS BRACKET TO FRAME STOP AS PER TEMPLATE.

ON DOOR AND FRAME AS SHOWN ABCVE.
2. ATTACH CLOSER TO DOOR AND PARALLEL BRACKET TO
FRAME ({(SHORT END OF CLOSER TOWARD HINGE)

B ASSEMBLE MAIN ARM TO CLOSER WITH INDEX pARALLE E ADJUST AND REGULATE DOOR CLOSER AS DIRECTED
MARK ON END OF SPINDLE 45° FROM AXIS OF ON D-4550 INSTALLATION INSTRUCTIONS FOR
ARM, AS ILLUSTRATED BELOW, USING A WRENCH SPEED, LATCHING ACTION, BACKCHECK,
ON THE BOTTOM SPINDLE TO ROTATE SPINDLE AND DELAYED ACTION.
INTOPOSITION. ATTACH ARM TO SPINDLE CAUTION : BACKCHECK IS ESSENTIAL TO PREVENT
WITH WASHER AND SCREW. ARM FROM STRIKING ARM STOP WITH IMPACT.

INDEX MARK

ON SPINDLE E | ,
N INSTALL COVER AS FOLLOWS :
o |
Pl
e
.

A ALIGN COVER OPENINGS WITH THE CLOSER
= C"b L - SPINDLE, AND SNAP ENDS OF COVER INTO
LEFT HAND DOOR .~ e H POSITION OVER CLOSER

INDEX MARK ! : :{ﬁ}% ek
ON SPINDLE.

\

PARALLEL BRACKET

@
" \ )
RIGHT HAND DOOR | INSERT IS REMOVABLE
' : D OPENING
COVER PLACE IN UNUSED O N(
FOR HOLD-OPEN ARM : A QUARTER TURN ON THE
CONTROL HANDLE WILL ENGAGE OR DISENGAGE
PARALLEL BRACKET THE HOLD-OPEN FUNCTION.

2021.11




	頁面 2

